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1.

What i the aim of Physical Education 7

{A) A wholesome development of an
individual

(B) Physical development

(C) Growth and development

(D) Al of the above

The body which controls the
participation of the Indian teams in
Olympic games Is
(A) AAFL

(C}) LO.A.

B 1.0GC.
(D) O.CA.

The first modem Olympic games were
held in the year

(A) 1806
(B) 18040
(c) 1904
(D) None of the above

When was |.O.A. formed 7
(A) 1925 (B) 1926
(C) 18927 (D) 1928

To which of the following is the hosting
of Olympic games awarded 7

(A} Tothe city

(B To the country
(C) To the district

(D) To the capital

6 Which Indian captain mounted
the victory stand for first time dur
Olympics 7
{A) Dhyan Chand
(B) Jaipal Singh
(C) K.D. Singh Babu «

(D) Kapll Dev '

7. ‘Lean Body Mass” is

{A) Muscle, bone and other nor
lissuas of the body

(B) Fatly tissues of the body
{C) Total body weight
(D) MNone of the above

8. Which of the following isf
cnnsiderad_ for Eraparlng
physical profile gf @sports pe
(A) Waight
(B} Height
(C) Boih (A)and (B)

(D) Muscle strength

9. Who are the participants in 5
Olympics 7
(&) Physically handicapped
(B) Mentally retarded childr
adults
{C) Both (A)and (B)
(D} Veterans
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15. Which event was the first and
original event for Olympics 7
{A) Footrace (B) Chariot
{C) Boxing (D) Wrestil

10. “Physical Education is a Fundamental
Right to Every Citizen" is includad in
(A} WHO Charter
{B) SNIPES Charter
(C) HRD Ministry Charter . 2004 Olympic was held in
(D} UNESCO Charter |A) Beijing (B) ,Atianta

(C) Athens {D) “Munich
Which organisation leads the Olympic

moverment within each couriry 7 . What is the maximum duration of d
(A} NOC (8) 10C forwhich the Olympic games are he

(€} IFC (D) NGB (A) 12 days (B) 14 days
(C) 15 days (D) 16 days
What is chronological age ?

(A) Age inyears, months and days
(B) Indicated by bones and dentition
(C) Determined by signs of puberty
(D) Determined by use of

The lerm ‘Marathon' race is
aftera

(A) Person (B} Place
(G} Fool race (D) Chariot

inlelligence tests . Heart rate is defined ag

(A) Quaniity of bidadpumped af
by heart in one minute

Tha growth of females is more rapid

than boys in | (B) Number of systolic contracti

(A) 6—10 years per minute

(B) 13-19years {C) Number of diastolic contrach
(C) 18- 25 vyears per minute

(D) Above 25 years (D)  Number of heart contractions
minute

Which of the foliowing is not the

benefil of exercisa 7 . During heavy exarcise the supply
(A) Reduce fat blood increases towards

(B) Maintain blood pressure (A) Brain
(C) Injuries (B) Skeletal Muscle

(C) Skin
D from di
{ ) Freedom from diseases (D) Kidnays
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21,

23.

24,

F.I.M.S. stands for

(A} Federation of indian Medicine
and Surgery

(B) Federation of Intemational
Medicine and Sports

(C) International Fedaration of
Medico-sportive

(0} Federation of International
Medico-Sportive

Drugs that increase muscle bulk and
extra power for muscle contraction
are

{A) Caffaine -

(B} Androgenic steroids
(C) Conico steroids
(D) Batablockers

Spors injuries can be minimized by
(A} Massage '

(B} Sauna bath

(C) Steambath

(D) Mons of the above

Knee cartilage injuries are commonly
associated with

(A} Swimming

(B) Howing

(C) Boxing

(D) Football

25.

27

Shoulder dislocation injuries
commonly associated with

(A) Rowing (B) Baskal
(C) Volleyball (D) Judo

Which of the following does
belong to the category ofdopa 7
{A) Ergogenic aids -
(B) Caflaing

(C) Nicotine

(D) All the above

For complete treatmen! of spa
injunes one should depend upor

{A) Physiotharapy
(B) Corrective exercise therapy
(C) Both the above

(D) ﬂnndﬂiuﬁ]ng;-‘-j{ =

Which of the following is associal
with rickeis 7

(A) Knock knee
(B) Pigeon chest
(C) Oedema
(D) Abrasion

Stress fracture is common amao
(A} Dancers and Athletes

(B) Factory workers

{C) Waomen

(D) General population
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31.
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The guickest and most effective way
to stop bleeding s

(A)
(B)
(C)
(D)

Direct pressure on the wound
Cryotherapy

Hydrotherapy

Tourniguet

Which of the following is NOT a spinal
injury ?

(A) Fracture

(B) Dislocation

(C) Slipped Disc

(D) Laceralion

“Hydrotherapy” is given using
1A) (B) Water
() (D) Heat

lce
Wax

What s the percentage of water in
L]
human body 7

(A) 50%
(C) 70%

(B) 80%
(D) 80%

Which of the following has the highest
parcentage of watarin it 7

(A) Gaslric Julces and Saliva
(B) Gaslnic juices

{C) Bilood

(D) Muscle tissues

=10

35, The main function of WBC is to
(A)
(B8}
{C)
(D)

Transport substances
Remove dead cells
Increase blood circulation
Fight against infection

Weight of the heart in huﬁns &
(A) 200gms (B) 400 gmi
(C) 220260 gms (D) 300 g

I & muscie is injured after a vigorg
workoul, ong can exercise after

(A) 12 hrs (B} 24 hrs
(C) 36hrs (D) 48 hrs:

38. Largest muscie in the human bog

(A)
(B}
(C)
(D)

Trapezius

Gluteus maximus
li.. -

Soleus Tl

Pectoralis major

Volume of air breathad par minu
around

{A) 5litres
(C) 8 litres

(B) 7 litres
(D) 11 litres

In a trained Athlete, the min
volume of the hear

(A) Decreases
(B) Increases

(C}
(D}

Remains same
Mone of the above
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41.

43.

44,

Central nervous system consists of
(A} Brains and spinal column

(B) Ribs and vertabral column
(C) Brain and Neurons

(D) Dendrites and Axons

Which of the following is raquired for
clotting of blood 7

(A} lron

{(B8) Calcium

{C) Sodium

(DY Phosphorous

Name the proleins presant in the
muscle fibres

(A)  Actin

(B) Myosin

(C) Both (A) and (B)

(D) None of the above

The respiration of the cellis controlied by
(A) Lysosome

(B) MNucleus

{C) Golgi bodies

(D) Mitochondria

The controlling centre of the cell is
(A} Mitochondria (B) Nucleus
(C) Golgi (D) Mitosis

TG R O A O

46.

a7.

49,

50.

Which of the following is the large
gland 7

(A} Lungs
(C) Liver

(B) Kidneys
(D) Thyroid

Type of energy used in_playif
football is 3

(A) Kinetic energy
(B) Electrical energy
(C) Thermal enargy
(D} Muscular energy

Increased blood blow and incraag
in the rate of call metabolis

indicales
(A) Redness (B) ; Swalling
(C) Pain (0" Heat

Energy requirements depend upor
(A) Age

(B) Sex

(C) Physical activity

(D) Al the above

Which of the following is not a fs
soluble vitarmin 7

(A} Vitamin A
(C) Vitamin D

(B) Vitamin @
(D) Vitamin E
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51.

a2,

The cardiovascular endurance
capacity is

(A) Owerall body endurance

(B) Stamina

{C) Aerobic power

(D} None of the above

What is cardiac hypertrophy 7
(A} Changes in haart size

(B) Due to training size of heart
increasas

(C) Mormal thickness in the
veninicuiar wall

(O) It is-an Athlatic heart

What is the percentage of muscles in
the body 7

(A) 40%
(C) 80%

(B) 60%
(D) 100%

Study of joints is called
(A)  Kinesiology

(B) Blology

(C) Anthropometry
(D) Arthrology

Largest bone in the human body is
(A) Tibia (B) Femur

(CG) Fibula () Humerus

56.

B7.

29,

0.

“Neck joint” is an example of

(A
(B)
(C)
(D)

Pivot joint
Hinge joint
Saddle joint

Condyloid joint

The force expernenced by a spinnin
ball as it moves through:the air

called

(A)
{B)

(C) Compressive force
(D) Contract force

Which of the following has rmaximu
parcentage in compesition of bong

Calcium sulphate
Calcium phosphate

\A)
(8]
(G
(D)

Technigue of ossification of bonesd
right hand is used fo defermine

(Al
(B)
1C)
(D)

Tensila forca
Magnus force

Chigride.
Fluorida

Height

Age
Weight

Equilibrium Ability

Synovial joints ana

(A)
(B)
(€
(o)

Slightly movable
Freely movable
Both (A) and (B)
Nona of the above

-
¥
i L
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B1. The scapula bone is situated in B6. Award given to coaches who
(A) Leg trained sports Farsun_ﬂ or tes
B) Hip making outstanding achievement
the year Is
- G} Uppee tagk (A} Arjuna Award
(@) Am (B) Rajiv Gandhi Khel Ratna A
8§2. The movements around ball and (€] Dronacharya Award
sockel joints are (D) MNone
(A) Flexion and exiension 67. Which of the following countries
(B) Rotation and circumduction maximum number of medals in
(C) Hyper extension 16" Commonwealth Games 7
- (D) Al of the above (A) Australia (B) Engla
(C) Canada (D) India

B3, Althe time of release of discus
(A} Centripetal is more than
centrifugal force

(B} Cantrifugal force is more than
centripetal force

68. Densily of bones is greater in
(A) Men
(B) Women o~
N
(C) Both (A) and (BY
(D) MNore of tha above

(C) Centripetal and centrifugal forces

S 69. An Athlete covering 100 m distas
(D) None of the above in 10 seconds, ran at a spead of
; &
84. The sterum is located in (A} 1By ® 100
s 2
(A} Fool ® Paim Sl (B): 1000
(G} Chest (D) Skull 70. The forces acting on a runner neas
. end of a race are
65. The Rajiv Khel Ratna Award Scheme (A) Weight
was launched in R
(B) Friction

{A) 1991 -82 (B) 1982-983
(C} 1993-94 (D) 1994 -85

(C) Al resistance
(D) Al of the above
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71.  Every movement has
(A) One axis
(B] One plane
(C) One axis and plane
(D) None of the above

72.  What Is change in position 7
(A) Spesd
(B) Displacement
(C) Distance
(D} Velacity

73. Which technigue is used in the
treatment of fracture ?

(A) Traction (B} Effleurage
(C) Petrissage () Tapotment

74. The point were by the entire mass or
weight of the body may be considered
to be concentrated as ]

{A) Centre of mass
{B) Cenire of gravity
(C) Torque

() Lever

79. Reaction time is component of
(A) Physical fitness
{B) Muotor fitness

(C) Health related physical fitness
(D) None of the above

6.

78.

These are the condilions related wi
stress except

(A) Hypertension
(B) Anemia

(G}  Peptic ulcer
(0} Mental illness

-

The best method for training
emotions In sports is

(A} Repression
(B) Rediraction
(C) Inhibition

(D) Sublimation

Who gave laws of learning ?
(A) Walson (B) Gestall
(C) Carlus By Thorndike

What type of motivation is n
applicable to young children 7

(A) Intrinsic motivation

(B) Extrinsic molivation

{C) Achievemen! motivation

(D) None of the above

In the childhood, Iindividua
behawviour is most influenced by

(A) Community
(C) Peergroup

(B) School
(D) Family
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81,

83.

Thacausa of frustration among sports
person is
(A} Result of own performance

(B) Mormally due to mismatched
level of aspiration and ability

(C) Result of good padormance

(D) MNatural cutcome of competitive of
sports

The period of growth and

development from 2-11 years is
known as

(A) Early childhood
(B) Later childhood
(C) Puberty

(D) Adulthood

The reason for lower pardformance in
sports competiticn is

(A) Fear of failure
(B} Anxisty

(C) Aggression
{D} Motivation

During adolescence, the behawiour of
a parson Is influenced by

(A) Family (B) Paergroup
(C) School (D) Society

Concentration is the narrowest path of
(A) Aggression (B} Arousal
{C) Activation (D) Attention

BE.

87,

The personal feedback is facilita
through

(A) Telavision

(B) Tape recorder

{C) Kinesthetic knowledge
(D) All of the above

Achievement mmwatiu;i ralates
{A) Need of the person

(B) Knowledge of the person
(C) Experience of the person
(D) Aptitude of the person

How is Psychology defined today

{A) The science of bahaviour &
mental processes

{B) The sclence of human be
and menlal processes

(C) The science of mind

(D) The study obmidlivation, ef
parsonality, adjustment and
abnormality

Emuotion is defined as
(A) Feeling

(B) Disturbed

(C) Feary future

(D) State of organism

Psycho-sexual development k
place during

{A) Later childhood

(B) Adolescence

{C) Young age

(D) Adulthood
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81. Sports performance is the bi-product of
(A} Skill
(B) Conditional ability

82,

g5.

(C)
()

Tha first metamormhosis falls between
the age ol

(A) 7-10years
(C)

Total perscnality
Tactical ability

(B) 3-5years
M-14years (D) 2-4 years
Body mind relationship was first
promulgated by
(&) Socrates
(C) Hitlar

(B) Plato
(D) Homer

The personal factors in learning are
(A} Heredity factors
(B) Fitness factors
(C)
(D)

Psychological faclors
All the above

Feedback method

(A) s helpful to the leamer

(B) Is detrimental to the learmar

{C) s neither helptul nor detrimental
(D) none of the above

Mental development includes

(A} External and internal organs
\B)
(C)
(D)

Reasoning and thinking
Ethical and moral
Emotional maturity

a7,

100.

Stress is
(A)
(B)
(C)

Advantageous to the player
Detrimental 1o his abilities

Both advantageous and
detrimental as per the situation

(D) MNone

Which of the faliowing is an intrinsk
maotivation ?

(A} Play

(B) Promotion

(C) Feedback

{0} Interest of play

Most appropriately physical education
curnculum can be defined as

(A)
(B)

Division of the subjects for st
Putting educational philosophy
inta action o
Prescribed course of subjects |
study

None of the above

{C}

(D)

Which of the following was the first ig
facilitate the introduction of moderr
physical education in schools 7

(A)
(B)

Nafional litness corps

The plan of physical education
and recreation

N.C.E.R.T. syllabus

Natiocnal policy of education,
1880

(C)
(D]
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101. When was Laxmi Bai National College, 105. Y.M.C.A. Caliege of Physit

Gwalior of Physical Education Education is situated at

[LNCPE] established 7 (A)  Kolkatia

(A) 1958 (B} Bangalore

B) 1957 (C) Mumbai

©) 1963 (0) Chennai .

(D) 1881 106. Which was the first institute in Inf
o propagate the cause of indigent

102. Which of the tollowing is not a physical education 7
scheme/programme by S.A.l. for (A) ¥.M.C.A., Madras
Spoting talent ? (B) LN.C.P.E. Gwalior
= (A) NSTC (C) Hanuman Vyayam Prasars
(B) SAG Mandal, Amravati
() SPDA (D) Punjab Govt. College of Phyl

Dy SGFI Education, Patiala

107.  ‘Which of the following is an ap

103. What does time table indicate 7
g body for promotionBtsports ta

(A) ‘Load of work on teachers only search scholarship scheme 7
(B} Waorking hours of theischoal only (A) LNCPE
(C} Location of class or teacher at a (B) NSNIS
particular time (C) SAl
(D} Al the above (D) Punjab State Sports Cou

104. Which of the following factors affect | 108. |In 1853, who presented the f.
time-table 7 project for organised sports coad

n India 7

{A) Jawaharlal Nehru

(B} Raj Kumari Amrit Kour

(C) Rajendra Prasad

(A) Number of sfudents
(B} Eguipment available
(C) Climatic conditions

(D) Allofthe above (D) Sir Dorabji Jamshedji Tata
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108

110.

111.

112

What is the minimum gualification to
become a coach in India 7

(A) NSNIS Diploma
(B) B.PhEd.
(C) MPhEd.
(D) M.Phil

The average energy expenditure of
an individual engaged in normal
daily activity is

(A) 2000 - 4000 K. Cal.
(B) 3500 - 8000 K. Cal.
(C) 1800 - 2700 K. Cal.
(D) 1500 - 3000 K, Cal.

ATP is §tured in
{A) Muscle

{B) Gall bladder
IC)
(D)

Pancreas

Livear

Discomfort or decreasad efficiency

resulting from prolonged or excessive
gxercise 1S known as

(A} Spasm
(B} Ischaemia
(C) Fatigue
(0} Tiredness

113,

114,

115,

Which muscles contragt only
stimulated by nervous system 7

(A} Skelstal muscles
(B) Smooth muscles
(C) Cardiac muscles
o Al ‘s

The substance which reduces
tension inalveali in order to avoid
collapsa

iA) Blood

(B} Oooygen

{C) Surfactant

D) Alkali

What is the average of total su
area of our lungs '?‘;"‘-". =

(A) 65sq.mt.

(B) ¥2sg.mi

{C) 75sq.mi

(DY 79sgmt

What is the percentage of ox
bound to haemaoglobin in blood

(A) 80.8%
(B) 82.5%
(C) 95%
(D) 9B.5%
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110, s trat niataiEt | s =i
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(A} 2000 —4000 K. Cal.
(B) 3500— 8000 K. Cal,
(C) 1800 - 2700 K. Cal.

(D) 15003000 K. Cal.

111, ATP %1 da5+ 48] 8 2
(A) vEh (B) Tommer

(C) =AM (@) wd

112. sl g o 91 TR ST W

o srgla an H 5 e #
e ©
(A) THE (B) ¥im

(C) A wH (D) EHEE

113.

114.

115

16.
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(A) 90.8%
(B) 92.5%
(C) 95%
(D} 98.5%
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117. The muscle which is strongest in 121. Which is the most common site &
human body is fracture ?
(A) Quadriceps (A) Wrist
i ! (B} Rectus femoris (B} Foraarm
(G} Stemomastoid (C) Hand
(D) Triceps (D)  Ankle
118. Trachea splits into two bronchi. The 122. Hairline fracture is also called
right bronchus divides again into (A) Infraction fracture
{A) Two bronchi (B) Torus
1 (B} Two Alveol (C) Greenstick fracture
{C) Three bronchi (D) Impacted fracture
(D} Four Alveacli
123. Which chemical is used in
119. Breathing centre is located in treatment of muscle and joi
(A) Cerabrum . inflammatory reactiong?
(B) Cereballum . (A} Corisone
(C) Spine (B) Botulinum
(D) Madulla (C) Epidural steroid injections
| 120. What is the average minimum S NI e
duration for the complete resynthesis 124. The stroke volume of an averag
of muscle glycogen afler exarcise 7 aduli is
(A) 1-2hours (A} 7O ml
(B} 24 hours (B) 80 mil
(C) 48 hours (C) B85 mi
(D) 72 hours (D) S0 mi
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126,

- 126.

127,

128.

A+

What is the correct sequence of blood
circulation

(A) Heart — arteries artarioles
capillaries

(B} Areries heart arterioles
capillaries

(C) Heart artericles arteries
capillanes

(D) Heart capillanes arterioles
arteries

Fuel used by the body while doing
the exercise of severe intensity is

(A} Carbohydrate

(B} Carbohydrate and fat equally
(C) Lesscarbohydrales

(D) None of the above

Deficiency of vitamin D causes

(A) Beri-beri

(B) Scurvy
{C)} Rickets
(D) Night blindness

Faulty bone development among
children is caused due to

(A) Seurvy
{B) Rickets
(C) Beri-ben
(D) Typhaid

129,

130.

131,

132.

133.

Total number of vitamins requi
human body are

(a) 10 (B) 11
(C) 12 (D) 18

Which of the following minerals ke
brain, nails and hair healthy 7

(A) Potassium
(B) Sulphur

(C) Phosphorus
(D) Calcium

Proteins from the major part of
(A) Strength dominating s
(B) Endurance dominating
(C) Both (A)and (B)

(D) Maithar (A) nor (B)

For endurance doffirating
diet should be nch in

(A) Protein

(B) Fal

(G} Minarals

(D) Carbohydratas

Which of the lollowing has
food value 7

(A) White eggs

(B) Brown eggs

(C) Both{A)and (B)
(D) Duck aggs
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127.

128,

Yo T 5w R T
(A) =Y —y WA iR Rl
(B) ot e e S
(C) W i aul #f
(D) T i R

e i =1 ST i e IR
F g It B e

(A) FrETEERE

(B) HTHIBTSE T a6 Uek HHTA
(C) T

(D) Ft g

faendia D % 3nE & 0w g 2
(A) =R
(B} =H

129,

130.

131.

132

133,

JDD-78/PGT- PHYEDU/TIER-I/X-15

e i & T s FefiEl
A

(A} 10 B) 11

(C) 12 D) 13

e ® & i wf T, s
s I TET R ?

(A) TN
(C) HeEE

(B) AR
(D) Feitam

s 1 it fie g S R T
fem

(A) T TE

(B) WA W e

(€) (A) 3 (8) 7

(D) (&) (B) & e o=

e W e H g gah
et B =R
() S
(c) @

(B) =

(D) =EEEEH

ot 1 9 Forme srapen i 2 7
(A) TR A=

(B) o v

(C) (A3 (B) 7H

(D) ¥ =1 HATS]



J JDD-78/PGT- PHYEDU/TIER-IWX-15

134.

135,

136.

137.

Necessary basic conditions for good
health include

(A) Proper Diet
{B) Personal and Domestic hygiene
{C) Exercise and Rast

(D) All the above

Which activity bums the maximum
calorias 7

{A) Cycling (5.5 miles/hr.)

(B) Squash

(C} Running (10 mileshr,)

(D) Swimming (20 yd./min.)

Sports Medicine field doas not
include

(A)
(B)

MNutrition and diet

Treatment and prevehlion of
injuries

(C)
(D}

Conditioning and training

Grants tor sports promotion

For complete treatment of the sports
injuries one should depend upon

(A)
(B)
(<)
(D)

Physiotharapy only

Corrective exercize tharapy only
Bath the above

None of the above

138,

138.

140.

141,

Which of the following is a vird
disease affecting central nervoyl
system 7

(A) Chicken Pox
(B)
(C)
(DI

Rabies
Tetanus

Leprosy

Which disease is transmitted frg
infected mammals o man 7

(A)
(B)
(<)
(D)

Chicken Pox
Malara
Rabies
AlDS

Which ol the following Is not)
source of protein 75

(A) Eggs
B} Meat
(c) oil
(D) Milk

How rmany calories are reguired pé
Kg. of body weight every hour ?

(A) 1K Cal
(B) 1.3KCal
(C) 2KCal
(D) 2.5KCal.
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(A) 1K Cal

(8) 1.3KCal
{C) 2KCal
(D) 25KCal

|
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142,

143.

144,

145.

146,

Obesity does nol cause
(A}  Infertility
(B) Cancer
(C} Diabetes

{D} Ischaemic hear disease

Poor illumination in industries is a
cause of

(&) Physical Hazard
{B) Chemical Hazard
(C) Biological Hazard
(D} Mechanical Hazard

Lung cancer is caused due to
(A} Physical agents

(B) Chemical agents

(C) Biological agenis

(DY Mechanical agents

Which communicable disease is also
called as Hansen's disease 7

(A) Hepatitis &  (B) Tuberculosis
(C) Rabies (D) Leprosy

Unhealthy eating patterns do nol
cause

(A) Anamia

(B) AIDS

(C) Dental caries
(D) Obesity

147, An Athlete weighing 50 kg who
for two hours required an intay
approximalaly

(A) 2410 K Cal.
(B) 2800K Cal
(C) 3000KCal, «
(D) 4500 K Cal,

148. Sugar, sweels, bread and cake
rich sources of

(&) Carbohydrates
{8) Fats

{C) Proteins

{0} Roughage

149. What is "a stale of complete phys
mental and social wefl being and
merely the absence of diseass
detormity” 7
(A) Physiology
(B) Recreation
(C) Health

(D) Growth

150. Physical education as well as §
axpenenced a “golden age” in
ancient country 7
(A) Greece

(C) Rome

(B) laly
(0) Ge




A DT G060 5 0 0 JDD-78/PGT- PHYEDW/TIER-INX-15

142, HYET e i T 2 147, 50 kg T T Sl 2 6]
(A) =T R S & TE A O
(B) FH W
(C) mgde (A) 2410 K Cal
(D) FEF 7 (B) 2800K Cal | A
143, Ol § svaf sem saE S0 (C) 3000 K Cal.
g (D) 4500 K Cal.
O S v, b, P e A A e
(B) wEmafeE wan
== o
(C) HA
A 1.
() el () S |
(B} ==
144, EUEE FE BRI R (©) Ml g
(A} sifaw wrm o ‘
(B) TmmhE wnE _
(c) FwTT= 149, "‘Faw tm o fagh i g Al afe
(D) wefifi s wfamitfen, ARl sicannfes g
' FyT
. HH il
145 Ljﬂ;fﬂﬁﬁﬂﬁﬂ%ﬂﬂﬂmﬁn o MO
(A) duRREEA (B) & T (8) AR
(C) (D) F3 7 g
oy FEEm
146, AT Wi o § °% TRl 5
(A) TEAEET 150, i W= 20 o it fven % amy
(B) AIDS T Ee 3 e g gy e 7
(C) @il H it (Caries) (A B == :
(D) wHrer (c) ™ (D)




JDD-78/PGT- PHYEDW/TIER-I/X-15 00 1
151. The first Olympics Games were | 155. ‘Stadiometer’ is used to measure
held in (A) Strength
(A) 726B.C. (B) Weight
(B) 776 B.C. {C) Height
(C) 786B.C. (D) Stadium area
(0). 784.8.L. 156, Leg strengih can be bestimpr
152. The Olympic Games are held every (A)  High jumps
(A) Third year (B) Depth jumps
Push
(B) Filth year (€} Pushups
(D) Chin ups
(C) Second year
(D) Fourth year 157, interval training is good for
(A) Off season

153. Physical ability which enables a

(B) Mid season
parson to rapidly change body

atition pericd
position and difference in a precise (G} "Compstition p

manner is called (D) None of the abve

(A} Speed 158. Circuit training is an effective

(B) Balance l for developing

(C) Co-ordination (&) Speed

(D) Agility (B) Flexibility

{C) Strength endurance

164, Aerobic fitness is best achieved (O) Ability

through

(A) Swimming 159. Which of the following is a cyclic

(B) Circuit training (A) Swimming
e
(C) Shor sprints (BY Rowing
(C) Football

(D) Long distance running

(D) Both (A) and (B)
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160. What iz the duration of fooiball ? 168. Height of the volleyball nel for
; (A) 45-10-45(min.) (A} 2.40m (B} 2.41mt
(B} 40-10—40 (min.) (C}) 242m (D) 243m

| —3 C) 35-10-35(min.
| (C) (min.) 167. What is the duration of a rount

(D) 45-2-45 (min.)

Boxing 7 z
| 161. The range of points awarded in (A) 1 minute (BY 2 minu
‘Decathlon’ is (C) 3 minute (D} 4 min
A=t s (B} =900 168. Events in "Power lifling' are
o (D) Seo0n (A} Squad, bench press, Dead
- 162. Number of flights in 110 m (Hurdle) (B} Squal, pollovers, curls
race s (C) Dead lift, bench press, chin|
(A) 8 (B) 9 (D) Mone of the above
(C) 10 (0) 11
169. How many weigh! categories s
163. Distance of Marathon race is the game of Judo d‘[’ﬁ?l:ﬂl:}:ll‘r'rﬂﬂ} ?
(A) 43.185k.m. (B) 42.195k.m, (A) 7 - (B} B
{C) 41.185km. (D) 40.165k.m. (C) 9 (D) 10

1684, How many folal jumps are there in 170. Whal is the length of Stand

J000 m steeplechase race 7 Swimming Pool ?
(Al 34 (B) 386 (A) 50 mtrs. (B) 60 mirg
(C) 35 (D) 33 (C) 70 mirs. (D} B8 mirs,

185. Dimension of the volleyball court are 171. In waight lifting competition

(A) Smxi18m(BxL) increase weight between |
(B) 10mx20m (BxL) attempts must not be less than
(C) 11mx21 m(BxL) (A} 25kg {B) 5kg

(D) 8mx16m (BxL) (C) 10 kg (D) 2kg




1680, Fesiel =i aafy Beaht ot d 7
(A) 45—10-45 (=)

(B) 40-10-40 (f2)

(C) 35-10-35 (=)

(D) 45-2-45 (fa=2)

"B Wige &4 o i 2
(A) 1-1200 (8) 1-1000
(C) 5-1000 (D) 12000

161.

162, 110 m (am) fr2 8 g7 fa (vemee)
o e Bl B
(A} B

(C} 10

(B} 8
(0) 11

183, Heded glieme
(A) 43.195 km.

(C) 41.185km.

(B) 42.195 k.m.
(D) 40.165k.m.

164. 3000 m Hreas Ag 4§
TOEGE 7
(A) 34

(C) 35

(B) 38
(D) 33

difeate fam (12 ) 1 fEn g e
[A)
(B)
(C)
(D)

185.
Gmx18m(Bxl)
10m =20 m(Bx L)
1Tm=x21 m(BxL)

Bmx16m(BxL)

166.

167.

168.

168,

170.

i B
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o et § Fo £ Jand ol
(A) 2.40m (B) 2.41m
(C) 242m (D) 2.43m
R 1 U et (e ) o sty
#edt B

(a) 1 fime By 2 fimz
(c} 3 fa== (o 4 firz
‘ara et v B B

(A) THE=, 59 1, 23 ore
(B) T, [, FoE
() =2 o, d9wm, T s

(D) St Td A

et (Rt @ @ d a9 & faa
UERER E 7 i
A 7 @ 8 &
(C} 8 D) 10

T A o avene (i ge )
T Tt wa R |

(A) S0WHRER (B) BOHE
(C) 7oHm=E (D) 8w
oo Feter inatfia § 51 wa
1 & =I5 =1 92 399 FH T8 a1
=ien

(A} 25kg (B] Skg

(C) 10kg (D) 2kg
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172. Totake penalty stroke in Hockey, any 177. Dumb bells. Bar beils and Pu
skill can be used except

(A) Push (B) Flick

= (C) Scoop (D) Hit
; {B} Speed training

173. The final event In 'Decathlon’ is

machines are used In

(A)  Weight training

(C) Circuit training

Sy (D) Strength training

(A) Javelin throw

(B) 110 mtr. hurdles 178. Speed is not a combination of
(G} 1500 mtr. race (A) Maximum speed

(D) 800 mir. race (B) Explosive strength (power)

i 174. Aerobic exercises contribute to the (C) Repetitions
SeeRgwL o (D) Speed endurance
(A} Speed
(B) Strength 178. What is the time for which tha pk
(C) Agility mugl rest in betwean session
(D) Endurance strength training 3_, -

- A i 1 |
175. Which of the following is the longest (A) 24 hours (B) 12ho
cycle of training 7 i (C) - 48 hours (D) 72 hou

A}  Macro cyel
W HFER 180. Which of the following is ng

i |

:S: ::""'m WEJE example of circuit exercises for ag
es0 cycle

{D) Weekly cycle (A) Squat jump

(B) Astride jumps

1768. LSD ﬁ.ﬂ"l'l' Slow Dlﬁtﬂﬂlﬂﬂj training and I{I::I Pull ups

can provide an athlete some relief
from high intensity training, (D) Step ups
{A) Interval training
(B} Fartlek training
(C) Speed training
{0} Weight training

181. Owverioading leads 1o
(A) Fatigua (B) Adapis
(C) Recovery (D) Rest
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172, e 1 U T o o T i o 177, &V e, an des o g wefia e
w1 = 3w o wn w8 R G G B
A 3 (8) frm (A) TR (W) wlingor
(€) D) fe 8) il
173, ‘Beraeia = sifm o o (C) itz e ' ¢
(A) w9 (D) #raed ufEmm
(B) 100 mir. =147 178, R v
(C) 1500 mir. 312 () o 1
(D) 800 mtr. B8 O p——
174, A s o e d awme @ (C) T
(A) fd (B) &= (D} =fs fafaan g
C D) fefdem 3
€ wh ) 179, =@ g A ) s % o faend :
175. T d & s afhem =1 a=fts w1 e amm R 7 £
e = ® (A) 24 wu2 (B) 12 Hut
(A)  TEd = (B) HEA = (C) 48 w2 (D) 72 "
(C) 9= 9% (D) wventes
180, T d @ 20t & foro i ofaem
176, LSD (&1 ¥ Tz ) whtveqor sqramd) =TT A 2 7
= e e A S Fe (A) WRIW  (8) wEEEE
THUFN S HEAT R 5 o B L
HEH
) 5 (C) 9= (D)
(B) HHZE Wi 181, stEmTEn (i) 3 v d
(C) ife wiEem (A) =FHE (B) wEEH
(D) @ wiErEm (C) wftem (D) AW
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182. Jogging, Swimming and Cycling are
a part of
(A) Gontinuous training
(B) Weight training
{C) Interval training

(D) Fartlek training

183. The name of one of the famous
Athletic Statue called “Discobolus” in

Greok means
(A) Runner
(B) Winnar
(C) Discus thrower
(D) Javelin thrower
184, Whal is the length of the Badminton
Court for Singles and Doubles 7
(A) 13.44m (B) 13.40m
(C) 13.70m (D) 13.56m

185. Which of the following Indicates

consistency in performance 7
(A) Validity

(B) Reliability

{C) Both(A)and (B)

(D) None of the above

A'J:

186, Research proposal is also called
(A) Abstract
{B) Summary
(C) Synopsis
(D) Methodology

187, Hypothesis is also called
(A) Hunch Scholar
(B) Temative conclusion
(C) Guess of the scholar
(D) Al of the above

188. Which of the following is the

measure of variability 7

(A) Range

(B) Standard Devialion
__.P'"J..q (R

(C) Mean Deviation

(D} None of the above

189. ‘French' shor services tests is for
game of

(A) Volleyball
(B) Tennis

(C) Badminton
(D) Table Ternis

190. ‘Alignometer is used 0 measura
(A) Size (B) Streng

(C) Posture (D) Weight



)10 OO0 O D O
1ap. =T, Sk ai wgefem e R

183.

184.

185

(A} et whEnam
(B) @@ (W) uEET
(C) T SiETE
(D) FHEeS wfEE

‘TEEEE T & aiE = e
g ad?

(A) TNERE
B) B
(C) e HEHAGTE
(D) SRR Sean

Terrere o =1 & fom st
(w12 # T e g e
(A) 13.44m
(B) 13.40m
({C) 13.70m

(D) 13.55m

forey 1 9 ey W A e i 8 7
(A) S

(B) Foreaseiam

(©) (a3t (B)

(D) St i T

186.

187.

188,

1B8.

190.

JDD-78/PGT- PHYEDU/TIER-I/X-15
S TeE #1798 i i #

(B) HiEra

(D) ‘it

(A) B
(C) &M

7uT 1 g ot e 8
(A) B BRI

(B) st e
(cy afee = s
(D} FtEsd

a1 e | e
R 7

(A) i

(B) @ A

(c} wrea R s
(D) Fufi= A |

T 1S wia e 56 e % TR
(A) afferate

B)

() =zfir

(Dy aw 2fHE
‘srerrAdTer g e 3 A R

(A) ST
(c) wfm

(B) ==

(D) s

(e [
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191.

182

184,

183.

195,

Which of the following instrument is

used lo measure postura 7
(A) Alignomater

(B) Scoliometer

(C} Both(A) and (B)

(D) Mone of the above

Which of the lollowing instrument

measure lung capacity 7
(A) Anemometer

(B) Wet Spiromater

(C] Galvonometer

(D) Sphygmomanomeater

A tread mill is used lor measuring
(A) Spead
(B} Power
(€)
(D) Force

Work done in runming

The maximum length of cricket bat |s
(A) 38 inches
(G) 40 inches

(B) 39 inches
(D) 41 inches

Formen, 110 hurdle race, the height
of the hurdle is

(A) 0B4OmM
(€)Y 1.087m

(B) 0.920m
(D) 1.11m

196,

197,

198.

199,

200.

The maximum distance covered
Marathon is

(A} 40km (B) 415k
(C) 42.5km. (D) 42.195
In Table — Tennis, the panod d
which a bail is in play'is called
(A) Rally (8] Let
(C) Point (D) Ob
Intramural programme creat
students the sense of

(A} Achlevemeant

(B} Involvernent

(C) Humor

(D) Enjoyment

Which of the followirg is the 1%
In a sports prﬂgﬂﬁl?

(A} Dirécting

(B} Staffing

{C) Planning

{0} Budgeting

Funds for the spors programmes:
be collected through

(A) Alumni associations

(B) Donalions

(C) Funds from public sector
undertakings

(D} All of the above
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191, vifim wme & oo Fosr o 6 196, HiET H STy 2 I = wE f
e Ui B 7 (A) 4Dkm. (B) 41.5km.
(A SR (C) 425km. (D) 42,195 k.m.
(B) ThifemEiEr 187. Zae 2w d w smfydamaad
EAI R, FHFEA T
Cy (A) 3 B)EET 2 " p
(C) (A)¥W(B) A
(D) Fa = e B A
192, HUFE Fi EHAT A & o e A (C) Wl
T T IR 7 (D) A

(A) e (B) #zferidier | 198. S wiwn @ P d
© TEdiba (o) ReEe| 0 o

(A) FoEfeE
183, = fm s IEmsd w4 g g (B) W |
(A) G (C) ﬂl"h'ﬂ' *"
(B) R (D) 25
(C) s A e v 199, e FIHHA F TET FoH FAETE 7
O) 7 () . CYRREEHEE=S
(B) Ffarl a=ara
194, Tz 32 1 srofirs e 2 @ (C) wmEEA
(A) 38FF (B) 3939 (D) #fEn
(C) 405 (D) 4159 200, W FEwA % o fe 1 3 g
_ wifem foram = wae &
195. TENI T 110 A A |, A S )
Lanikd B
(A) 0.840m (B) 0.920m (C) THESH &= 3m
(C) 1.067m (D) 1.11m (D) Fufind
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IMPORTANT INSTRUCTIONS TO CANDIDATES

Tefteat 3 fEm mewrgot sgEm

11
12

H.

14

15

18,

This booklet containe 48 pages.

Please check all the pages of the Booklet
carefully. In cdse 'of any defect, please ask
the Invigrator for replacamant of the Booklet

Directions - Each question or incomplete
sialement is followed by four allernative
sugpestad angwers or completions, In each
CasE, you are raquired o select the one that
coreclly answers the question or completes
the statement and blacken (@) approprlate
gircie A, B, C or D by BlueBlack Ball-Point Pen
againat the gueslion concerned in the
Answer-Sheel. (For V.H. candidates
corresponding clrele will be blackened
by the scribe)

Mark your answer by shading (he approgriaie

gircle apains! each question. The circle hauld

be shaded complelaty withoul lsaving any spaco.
The cormact method of shading s given balow.

Coormet Advermc
oenDo

I_'u'l.l.l-l'u -hhl"I:\rj
Qom0

| rong Wt || vacey sthen
el Jeje] (o] fale]
The Candidate must mark his'her response
atter carsful conshlasatan.

Thera is only ona correct answer o sach
question. Yau should blacken (@) fhe clrcle
of the appropriate column, viz., 8. B, CarD
Il you blacken (@) mome than ona circle
against any una quasiion, the anawer will ba
treated as wrang. If you wish o cancsl any
angwer, you should compleiely eraso thal black
mark im the circka in the Answer-Sheet snd then
blacken the circle of revisad response

. A machine will read the coded informaticon

in the OMA Answer-Sheel. In case the
information i3 Incomplate’differant from the
inforrmation given in the application form, the
candidature of such candidats will e trested
ag cancellad

. Use the space for rough work glvan in the

Question Booklel only and nol on the
Answer-Sheet

You are NOT required to mark your answers
in this Booklel. All answers must be
indicaled in the Answer-Sheat anly.

1. WY 48 TR |

12. g i e T e e el
1€ 2 R, i Frfiers =2 a0 wmea % e w |

13, T . wels w v WAl o whEA
= I S e g a vl
o e et v =1 g @ e e
% ] FE P F S A T
T I MEEN. W A, B, C ™ D A
HIEN FiE -0 U9 # T (@) T
(zheefir sodfraamt & fom @ v
fefamw grr wen fm @)

14, WER 9 & a3 o T g
T ferd | g e e R

Temeiem 03 = ool w519 Ry @
A AT | nEaaha | e ate | o
DERODICEOOICBDOION

i S e o B R
ferfts w =few |

15, T T 1 HEE U gk A 13
wqfea wiom waiq A B, CW D 1
=H H we (@) F R | aft e
HW TF  AfiE MaEmn m@e w1 9o (e
ST T T A Al G
T AT © A1 S - S e
TR e e 3 e s e g
T TOT TV W S

16, 3.um 3. 3~ § Wi T f52 i
T Wi vt |l g g § e o)
=0 9 g s R, 9 e oo
aregiifan P woe s |

17. & & fom 390 v W d o w
W L | I -gfEE e =

18. 58 yfer & s= amum) I aifeEe
A F | T e T d h #

Go through instructions given in Page No. 3 (Facing Page)
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PO NOT OPEN THE SEAL OF THIS BOOKLET UNTIL YOU ARETOLD TO DO soll

POST CODE / T FIE
145/12, 146112, 17314, 174114

QUESTION-CUM ANSWER BOOKLET
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JDD-78/PGT- PHYEDUW/ TIER-I/X-15

DESCRIPTIVE TIER - I/ =oriamesss ar -1l
MAIN EXAMINATION/ Wea it

Time Allowed @ 1 hour Maximum Marks : 50
raifie ;1 aw Aee A% : 50

IMPORTANT INSTRUCTIONS TO CANDIDATES

It & form wevagut sEm

1. Before making any eniry on Question Paper and QAB candidate should count and i
check the no. of pages and if any discrepancy is seen then Invigilator should be informed =
immediately for another copy of Question Pape.rﬂ.'.'AEl.. "

ws-w T QAB 1 ffl oft v 4 o w0 5 sl s gm re s T :ﬂ'él'!!'-'JHf-’Fﬁ:
i e foeadt oft e ot i o w e o a2fn o we -3 QAB Fi 5ud ol s s Tl |
i

[ ]
2. Answer of gvery question is expected at specified space. The answer will not be checked B

if there |s change in place of question or answer.
T e i s O g e & | v e S w afada we wae f ate ol et

3. It is mandatory to sinctly follow the instructions by the candidates.
T o T2 w1 2R @ A =7 W anae] & o arfEmi R
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i) Essay (In English)

.  Write an essay on any one of the topics given below : 30 Marks

a) Better [ate than never.

OR
b} QOur traditions are obstacles lo progress

OR
¢) Ancient monuments are losing their cultural heritage and are converted into

commarcial activity spots.

SEAL
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ii) Letter writting / Expansion of ideas (In English)

Il Answerany one of the following : 20 Marks
a) "Buy Indian, Be Indian®. Expand,
OR

b} One of your grandparents has completed one hundred years of age. Write a
letter congratutating him'her expressing gratitude, praise and admiration for
the way he/ she has lived his/her life.

OR

¢) success has many fathers while fallure is an orphan. Expand.
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INSTRUCTIONS TO CANDIDATES

Time Allowed :
Descrplive type Examination 1 hour
Total : 1 hour

Piease check all the pages of the
Question-Cum Answer Booklet with
OMR facing sheet. In case of any defect,
please ask the Invigilator for replacement
of the Bookiet. In case of any discrepancy
betwean the English and Hindi versions
of any Question, the English varsion will
ba treated as final/authentic.

¥ou must not tear off or remove any sheet
from this Booklel. Thiz Booklet must be
handed overto the Invigiator befare you
lzave thie Examination Hall,

This Booklat consiste of Descriptive
Examination - 2 questions of 50 marks.
Limit your answer to the space provided
in this Booklet. No additional sheet will be
provided.

Answar tha Quastions as carefully as you
can. Soma Questions may be difficult and
others easy. Do not spend much time on
any Question.

Use ol Calculator/Palmitop/Laptop/Other
Digital Instrument/Mobile/Call Phone!
Pager s NOT allowed.

Candidates found guilty of misconduct/
using unfair means in the Examination
Hall will be Habie for appropriate penalf
lagal action,

You shoukd not write your roll numbar,

name or address in the space provided

for writing answer. In casa of letter writing
name and address should be writen as
“abc”, “xyz" elp,
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